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Chemistry 11
EMPIRICAL FORMULA PROBLEMS

Find the EMPIRICAL FORMULA for the following compounds:

‘a) 77.7%, Fe, 22.37,0 = fe0

b) 70.0%, Fe, 30.07, 0 = Fe2"3

c) 72.47, Fe, 27.67, O = e 0y

d) 9127, P, 8827 H = TH,

e) 4637, Li, 53.77,0 = Li,O

f) 26.67, K, 35.4%, Cr, 38.07, O = k.04
g) 21.87, Mg,27.9%, P, 50.3%, O =M4¥, 04
h) 3.66%, H, 37.8%, P, 58.4%, O=1:¥03
i) 4627, C, 7.69%, H, 46.2%7, O~ [Cutla &5 |
j) 50.57,C, 5267 H, 44.2%7, N= CuHsNy
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What is the empirical formula (lowest whole number ratio) of the compounds below?

1. 75% carbon, 25% hydrogen
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2. 52.7% potassium, 47.3% chlorine
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3. 22.1% aluminum, Z:XS 4% phosphorus, 52.5% oxygen %
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4, 13% mognesium 87% bromine
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